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(iv) 2's comPtement is a ...._ number

. reprresentation. (negative / binary)

(v) Excel worksheet has 

- 

rows'

' (2s6 t 6ss36)',

(b) State true or false ' lx5=5

(i) Main mernory is a peripheral device'

- (iD hiternet Explorer is a web server'
I

(iiD Google.com is a web browser'

(iv) Digitizer is an input device' .

(v) Bar code reader is output device'
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3. (a) Wf,at is operating system ? 
.l . 3

(b) Explain in brief about (i) DOS operating
' system and (ii) Unix operating system.

3x2:6

(c) Eiplain the first and third generation
coinputer. , 3x2=6

4. (a) What is radix of a nurirber system ,? 3

(b) Covert : 3><+12

(i) l0ll0'l0l,r, to decimal

(ii) l0l l0l lc) to hexadecimal

. 
(iii) 36Q,0, to octal

(iv) a69'3Q' to, binary.

5. (a) What are the differences between LAN and
2+24

(b) What are network iopoloiies ? Name them
with diagram. 2+5=7

(c) What .is Intemet and Search enging ?

i+2=4
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